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Please make sure that the printed pages in this question paper of Part-II are 8 n

number and it contains 35 questions.
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Before answering the quesdons, ensure that you have been supplied the correct and
complete question pa@%no claim in this regard, will be entertained after

examination. N8
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General Instructions :
i & g a8
All questions are compulsory. -
i) W B 1 @ 35 7% TGS H & FF AT 1 o A Aérgar il #
o &y

Questions from 1 to 35 are objective type questio
mark. Answer the questions as per instructions.

ns. Each question is of 1
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A : Ry o g% 997 (1-18) 7 @70 o aygwr ReeT §AT

Direction : Select the most appropriate option from those given below -each question
{1to 18):

1. mﬁ@%mﬁ%mmﬁgﬁmwaﬁwsﬂ%aﬂammmm: 1
(A) 9T R (B) e A
(C) T& =W - (D) YA @ TR

On introducing a dielectric material between two positive charges situated in
air, the repulsive force between them will be :

(A) increased (B) decreased

(C) the same (D) . zero

2. ﬁ@%@—@%ﬁzﬁﬁgﬁm%aﬂrwﬁﬁw10%&%1%%@?%@3%#

e © , 1
(A) 5 e/ ~ (B) 800 /A
(C) S000 =IE/FcH (D). 250 e /FHH

 Two plates are at 2cm a p and potential difference between them is 10 volt.
The Intensity of electric ﬁQﬁQ between the plates is :

(A) 5 Newton ;Ccaulgﬁ (B) 500 Newton/Coulomb
(C) 5000 New@oulomb (D) 250 Newton/Coulomb
.ﬁgﬁ[mmmmhwﬂﬁm%: | P 1
(A) I= neVd ' (B) I=neAVy '
Va neA
] =—4 D) Vy=
(C) — (D) Vg=——
The relation between electric current (I} and drift velocity (Vd) is :
Ay I= neVqd ' By I= neAVd
Va neA
= G D V=
€ I=—2 _( ) Va=—F
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(3) 5628/(Set : D)
4, mairwammlamqrﬁs%%ﬁm%amﬁmwmﬁﬁamﬁww% 1

(A) fewrgor (B) T AR T

(C) TR (D) R

Prism designed to bend light by 90° or 180° make use of :

(A} dispersion (B) total internal reflection

(C) reflection (D) diffraction
s.a%mA%aw(mﬁﬂmn)%fmwﬁammDmam% 1

() Dp=" B) Dy =(n-1A

A —n-
€ Dp=—— (D) D, =n-1

is :

n-1 $
(A) Dm=T B) Dp=rn-1)A
(C) D, =2 (D) Dp=n<1 -
n-1 .
6. F 0 PR gwad 10D For ~SD B, §9% A T ¥ IR 6 BER-gl € 1
(A) 5o S . (B) -s5&f
() 20 & g\@ (D) —20 &H

Two lens of power 10@31’1;’1 =5D.are placed in contact. Focal length of the
combination will be

(A) Sem @$ ~ (B) -5cm
(C) 20cm (D) 20cm

7. 4 3 Rl mam ¥ wadlt da B gat B TORe g e S @ SR S W

Pt 1 arafas qefe 1
(A) I @ R o ~ (B) W@
(C) wear ¥ ' (D) SRET & FE T

In Young's double slit experiment, the monochromatic source is replaced by

another monochromatic source of shorter wavelength, then actual separation
of thé Fringes :

(A) remain constant - (B) increqses
(C) decreases. (D) None of the above
5628/(Set : D)/ Il RELE0.
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8. Vaw 3 RvEiat & @Ra Rt gt & waft -5l aURHA § ' 1
1227 4 1.027
el A ket
A == B) —7= A
12.27 122.7
© TA L =7 A

de-Broglic wavelength associated with an electron, accelcrated through a
potential difference of Vvolt is :

1227 1.227

A) =£° A 1easl 2

A B ~ 5
12.27 122.7

C 2eo.

© A D) LA

9. m%mﬁamﬁmr—ﬁ@w&aﬁqﬁgﬁmﬁﬁmu@aﬂ%m

10.

11.

Rfer-emghal & e W 3 e g & e
(A) FicreT (B) - STRERA
(C) WIhE . (D) A

Which scientist verified Einstein's photoelectric equation with great precision,
for a number of alkali metals over a wide range of radiation frequencies ?

(A) Millikan (B). Einstein

(C) Rutherford Q - (D} Compton
K\Q

@wmmw@%wzwm%mﬁ% 1
(A) FEEIRE $Q (B) TSI
(Clwﬁﬂ?@ O) I & d Hg el
All nuclides with same Atomic number Z are called :
(A) Isobars (B) Isotones
(C) Isotopes ' (D) None of the above
g@mmaﬂﬁqﬂmﬁ@amqsaw%lwmﬁﬁ%aﬁm
St grll ¢ 1
(A) -13.6¢V (B) 13.6¢eV
(C) -27.2eV (D) 27.2¢V

The ground state total cnergy of hydrogen atom is about -13.6 €V. Kinetic
energy of the electron in this state is :

(A) -13.6 ¢V (B) 13.6¢€V

(C) —27.2eV : (D) 27.2eV
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12, mmprlﬁmﬁﬁpaﬂﬁnﬂﬂﬂﬁmﬁmmﬁa?ﬂﬁi , 1
(A) n-33 F 970 S I o Ry §
@) ¥ PR & Frer 6@ & o) Ry FR ¥
() p-&F ¥ ST-iEd, n-84 7 g wEw A ot B
(D) ' .
In an unbiasced p-n junction, holes diffuse from the p-region to n-region,
because :
(A) Free electron in the n-region attract them
(B) They move across the junction by the potential difference

(C) Hole concentration in p-region is more as compared to n-region
(D) All of the above

13. FeA, RHfem o Tfrm, 5d% ¥ oX dave /R & o Rdw oot ¥ ofaaa
mwmmwhmaﬁ% u“ﬁ'ss:rsr (Eg)e;. (Eg)si T (Eg)ce B

TUER 8 et & @ -1 ST § § 7 | 1
(A)  (Eglsi < (Eg)ge < (Eg)e (B) (Eglc < (Eg)ce > (Eg)si
(C)  (Eg)e > {(Eg)si > (Eg)ce (D) (Eglc = (Eg)si = (Eg)ce

Carbon, silicon and germanium have four valence electrons each. These are
characterized by valence band and conduction bands separated by energy

band gap respcctwcly equal to (Eg)c, (Eg)si.and (Eg)ce. Which of the following
statement is true ?

(A) (Eglsi < (Egce < (Eg)c \s@ (B) (Eg) < (Egae > (Eglsi
(C) (Eg) > (Egsi > tEg)@ (D) (Ege = (Eg)si = (Eg)ce
§
14. R@mmm%mﬁm'mmnwmaﬂmwm
T - 1
(A) nR - (B) 2nR
(C) n2R (D} n%R

The length of a metallic wire of R ohm resistance is stretched n times its initial -
length. Its new resistance is :

(A) nR | (B) 2nR
(C} n?R (D) niR
15. fpll o Foee AedefeT @ dieerdiet ¥ @R e o ¥ ;- 1
(A) IR ¥ I= gfrdg @ § (B) =R ¥ @Y nfedy @M= }
(€) 2 # T= gy @ @ (D) 3ft § @y sferde @y @
5628/(Set : D)/ I |
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Moving coil galvanometer is converted-into voltmeter by :
(A) Connecting high resistance in parallel

(B) Connecting low resistance in parallel

(C) Connecting high resistance in series

(D) Connecting low resistance in series

16. & g% i gedm & Y@ ¢ ' 1
(A) TH Hd 9% o & (B) wad 9% g9 A &
Iga-fom 3 &R 2 (D) IqUE X Py e
The magnetic field lines of a magnet form : _
(A) Continuous curve (B) Continuous closed loops
(C) Lil_{e the electric dipole (D) None of the above

17. @Wéa&g@mﬁmlmﬁﬁwﬁw 1%&[?@%%@"3-«11%

Ma R aes s @ ‘ 1
(A) 9w (B] 90 e
(C) .9 arT - (D) .09 A=

The magnetic flux linked with a coil is decreased from 1 Weber to .1 Weber in
1 second. The induced electromotive force in'the ceoil is :

(A) 9 Volt _ (B). 90 Wolt
(C) .9 Volt (D). .09 Voit

\@Q

13.&@%@%@1@%1%9“%#%%? 1
(A) @mmcﬁ (B) FUsfwdl & 91 i g0 W

(C) ETETETQEE%THER‘ (D) I& R W
On what factor docs the coefficient of mutual mductance of two coils not
depend ?

(A) Filled with medium inside solenoid
(B) Separation between coils

(C) Their relative orientation

(D) Their resistances

3 : (797 19 @ 27) FygFT Fov § ReT @i 21 g il
Directioh : (O. No. 19 to 27) Fill in the blanks with appropriate answer :
19 T .. e AN R g A w1

AN oeeivrennnnn. surface is a surfacc with a constant value of potential at all
points on the surface.
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20|

21.

22.

(7) 5628/(Set : D)

pre R TR & @R arr R O & gwe w OREE ST § AR A @
........... Eﬁ%ﬁ ’Eﬂ N 1
The €lectrolyte through which current flows has a -finite resistance, called
the covvereninnn .

------------- P % IR, SO &1 gam ofel Ry o A Ran & 9T @a #t a9
g SR & TR A R g A A R F @ 1

According to ................ rule, your extended thumb pointing in the direction of
the current. Your fingers will curl around in the direction of the magnetic field.

9 B X B B T (N) e T MR Ry e g @ g o g

The induced emf can be increased By s the number of turns (N) of a

. closed coil.

23.

'@%ﬂﬁﬁﬂﬂﬁwm%aﬁaﬁrmgmﬂqﬁramm%nm

g A g IR aet @ TgR B 1

A charged partlcle oscillates about its mean ecimhbnum position with a
frequency of 10° Hz. The frequency of thc electromagnetlc waves produced by

_ the oscillator is ............. .

25,

26.

27.

............... %waﬁaﬁm@nﬁﬁ@mﬁmmw%qm@ﬁw

g 2 O
N
Advance sunrise and @éycd sunset is due to ............. .
P fgg o . 6@ ...... B & AR T A 1
Photons are not deflected by Electricand ............... fields.
m@é%m%mmﬁ,mﬂﬂmmﬁmmaﬁzﬁiﬂw
Wﬂ%a@ﬁ%ﬂwﬁﬁ%&ﬁ@ﬁr%ﬁ% ............. wed & R

In Rutherford's nuclear model of the atom, the entire positive charge and most
of the mass of the atom are concentrated in the

----------------

¥ : (797 28 & 35) Rl 7t 3 FT @F a=) Ry F SR -

Direction : (Q. Np. 28 to 35) Answer the following questions in one word/sentence :
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28.

29.

30.

31.

32.

33.

34.

35.

(8) 5628/(Set : D)

ol SRRIGHT W A P TN F R I I3@ & ! 1
What is the effect on resistivity in metals, with increase in temperature ?
a9 () Rw i @ orear aRw wfdn 1

Current density is scalar quantity or vector quantity.

Rt WM W U & T 8 & AR 9o qu SRR 9% g9F § 9@ ¥ W
T P AT FA B 7 1

The horizontal and vertical components of the earth's magnetic field at a place
are equal. What is angle of dip at the place. -

20@@@'«5&—@%maaqﬁwﬁﬁgwwzmmﬁﬁ-mﬂmww%n |
3 o AR SRR F T 2 . 1
A point source of light is placed at a distance of 40 cm from a convex lens of
focal length 20 cm. Where should image formed on the other side of lens.

ﬁamﬁgﬁﬁmqﬁﬁmhgmﬁﬁM(nh)ﬁmwﬁ%? 1

In intrinsic semiconductors, what is the ratio of the number of free electrons
(ne) to the number of holes (nn).

m@mm%@amﬂﬁmﬂmmﬁﬁw}o%lwmaﬁﬁm
feertt 2t ? 1

The radius of the first electron-orbit ‘in hydrogen atom of Bohr model is r,.
What will be the radius oﬁ\{@fourth orbit? -

\ . |
o Brl Rade A Bl o ded T G @ AT B & ¥ g A e
JoT B GEA B IR Han? 1

In a single slit difftaction experiment, the width of the slit is made double the
original width. How does this affect the size of central diffraction band ?

TF o S Ay A Y (SEHE = 3/2) ¥ rvafid e & R qwn rwERia a3
) qieEl B ST Sl ,
Monochromatic light is refracted from air into glass of refractive index 3/2.
What is the ratio of the wavelengths of the incident and the refracted waves ?
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